50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Energy control center . ) (06 Marks)
With a block diagram, expla' the following: (i) Automatlc generation control.
(11) Control area and areas control €rTor. (06 Marks)

Two areas are inter co “ected -The generating, capaclty of area 1 is 36000 MW and its
regulating charactcrlst is 1.5% of capacity per 0. Hz. Area 2 has capacity of 4000 MW
and its regulating charactenstlc is 1% of capaclty per 0.1 Hz. Find each areas share of a
increased load(of, 400 MW in the Area :fv,.and resulting Tie Line flow. Also find new
operating ﬁ'equency if base frequency 1s§5\0 Hz. (08 Marks)

£

With a block dragram, explain basic. loops of generators and meanmg of cross coupling.
(06 Marks)

Explam brushlcss excitation systen} w1th a block dragram (06 Marks)
Two generators are supplymg}a certain load in powe _;system their ratings are 50 MW and
500 MW respectively. The,frequency is 50 Hz and‘each generator is- hal; Toaded. The system
load is increased by 110: MW and as a result the frequency drops fow9 5 Hz. What must be
the individual regulatlons$ if these two gererators should increase their turbine powers in
proportion to their ratings? j (08 Marks)

Explain pool operatron and its merrts’”nd demerits. (06 Marks)
Explain the tieline bias control of Two area system. ¢ (06 Marks)
A single area’consists of two generators having following characteristics:

Unit 1 :600MVA, 6 % Regulatron on 600 MVAgbase'

Unit 2 : 500 MVA, 4 % Regulatlon on 500 MVA base.

These umts are operatmg\m parallel and sharmg 900 MW. Unit 1 supphes 500 MW and Unit

Flnd the new generatlon on each unit and new operating frequency. Take common base of

1000 for the calculatlons ¢ (08 Marks)
)« % }

Explain gene : tlon and absorption of reactive power in power system. (06 Marks)

List the effe ,s"of sub synchronou%s resonance and also derive an equation relating normal

frequency anid sub synchronous frequency. (06 Marks)

In the radial transmission( system shown in Fig. Q4 (c) all the values are in pu and referred to

the base of 100 MVA. fDeterrmne the power factor at which the generator must operate.
N (08 Marks)
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